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(b) F(A,B,C.D)=>1,2,3,4,6,8,10), d(4,B,C.D)=>(0,12,14)
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F(A,B,C.D)= AB+ ABC+ A CD+ A’ C'D+ A BCD (6.4)
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F=ABC +ABC+ABC+ABC' = A(BC'+ BC)+ A(B'C+ BC")
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o

Bas
| > A,DOI_}

_o
—0 —0
(a) F=(AB+A'BY) (b) F=(AB)(A'B)
A A
B

D

(c) F=(AB)(A+ B) (d) F=(A+B)(A'+B)

i

1% 6.48 XOR AO|E2| c}

i
o
Hu
EH
o

- (61 BMMAS AT o] FRAL AR F oW
T}

= 19 6499 #Zo] XORE NAND A °lE

F=(AB+AB)=(A+B)(AB) = A(AB) + B(AB) 6.8)
={A(4B)+ BUB)}] = [{AAB)}Y - {BAB)}] '

B
B

Ba) D

J% 6.49 NANDEZ2Z XOR +d

0—| I—O

Al Righty Resewed.  Willerw By B.S. Jeor




